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3. In Figure 3.1 on the previous page, the consumer’s weekly e Sl agaull s;"(:'i::,dsg;ment ocC
consumer is currently consuming 10 units of x per week. P, = $3. The length of li

1s
A) $13.33.
B) S$30.
) $40.
D) $23.33.

petitive firm is in equilibrium, then the price of one of its inputs falls. What

4. Suppose a com
will happen?

A) The firm’s cost curves will shift downward.
the lower priced input.

)’ The firm will hire more of
C) The firm will produce more output.
D) All of the above.

E) Both (B) and (C) of the above.
good. Which of the following best describes the

S. Assume that peanut butter is an inferior
income and substitution effects as the price of peanut butter rises?

m

ion effect is larger.
s the consumer to buy less peanut butter while the income

. nsumer to buy more peanut butter while the
> consumer to purchase less.
- effects would cause the consumer to purchase more
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21. If the price per unit is

average fixed cost is $10 in Figure 9.1 on the previous page, the profit-maximizing firm’s

A) BI3,
B) HT.

t) price discrimination the monopolist’s marginal revenue curve

etitive firm’s marginal revenue curve.

>rpreted as a positive number).

‘as a positive number).
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-1 on the

3 Previous page, the OPpPortunity cost per unit of x of increasing production
from point D 1O point C js :

A) 2 units of y.
B) 10 units of .
) 0.5 units of x.
D) 2 units of .
A 0.5 units of y.

28. A competitive industry will be in long-run equilibrium when

A) no entry Oor exit occurs. =, T b
B) each firm in the industry is maximizing its revenue. - e,
C) each firm in the industry is earning positive economic pro
D) Alloftheabove. W
=4t B - - 1o i Ridecrease in the quantity ofapples supplied?

e market due to higher gasoline prices.















47. Which of the following is an example of second-degree price discrimination?

A) Discounted movie ticket prices for children and seniors.

B) Cheaper admission to Disneyland for Southern California residents than for out-of-towners.

C) Frequent-buyer programs such as supermarket club cards.

D) Higher fares on commuter trains during morning and afternocon rush hours.

48. In the case of a perfectly competitive firm, the demand curve

conncxd&s with the average revenue curve.
wnward-sloping.
with the marginal revenue curve.

nd the more

y consumers relative to producers.

the market supply curve,




